(3F 21)

CER) 1 ORI, EEMNAEESZRLEDBDTHS,
2 EOOSNEBEZADWMIZEANENIN TN RNWEZDL, SE520,
3 FERINIEBEALESEB TEAOHMICRRAINTOTS, FEELADLNDIHOITIE, HE5%5.
4 R EOHIEICOWTIE, BFEROHEIZEDBDET S,
i & e & fic =3
1 — 32 2 3ab
1 2 _
3 6 X 4 X 4
5 7/3 6 (a=)4b+1
117 47 () 8 (x=)5, —3 25X 14 |28
9 2 7(cm?) 10 8§ (@D)
11 75 () 12 (x=)2, (y=)3
, 9
13 42 7(cm?) 14 0§y§7
(1) 1
2 4
7
3 3
1134 5
2?2 1 21335 |11
31345
A
(1))
x+y:300 ...... @
30 20 - /X 0 essssss
T.OJC—FTOOy— 78 @
@&0
1 3x+2y:780 ...... @
DX 3—-Q&n
y =120
DITRAL Tx + 120 = 300
UL7=2>Tx =180
EZABF180 AN, 27120 N\)
1136 &L
3 (i) 12
- DO T OMOEED 3 AZNME. b DR 216 %
10a+(a—3) £EINS,
TORLOED 2 FlE, BEDOHBRELD 15/ hI0M5
a’={10a+(a—3)}— 15
) a’—1la+18=0
(a—2)a—9)=0
a=2, 9
ZOHE, ald 3L ETRITNIE RSN S
a—=9
XoT, HEDOHRKIT %
EZ( 96 )

OM11(768—56)




FFﬁ iEI/&E IE fé\: Ea VY
(1)
AABF & ADECIZBWNWT,
AABC = ADEF &0
AB=DE e D
A B Z/ABF = /DEC e ®)
BC=EF e ®)
, F Ef 1127
4 C BF=BC—-CF oo @ 2(11E 3 45 | 14
EC=EF—CF oo ® 22034 &
®, @, ®XY
BF=EC e @
D, @, ®Lv, 27WEFOMOANRENTE
NELWMS
AABF = ADEC
2 (1) 6/ 2 (cm) 2) 9/3 (cm?)
1 6 (cm) @)
BWOPQAHFELTHS 2 BEIZQ
ERM2EHIC—HKTHET S,
QERM2EBEIIC—KT 5 DI,
BAOPQMNBMS AICHN > Tit
B, KA RSAA NS BIZHIMN D
(Cm)y—+—+—+ o Téhf@létgfﬁéo 1 Li 2 /r\‘l:j;
. 10f-4-4-4- Dl -pex BhroQEcommT | 21335 ;
) - 2(x—8)em, AMBRETOME | 3(IF7 A
N BEZ (x — 6)em TH DM 5, 3N 5 4
2(x—8)+((x—6)=09
0 3x =31
x:1
3 - 31 ..,
EZ( 3 w1 )
5
(2) g%@@)
21312
L N et s s 2 98 (J=1)
M3l
(i)
ESFBOMICIIT x+1+10X2—2=x+19 (=)
21 2x (=)
1132 4
31 x+1+10X2—2=x+19 ()
i 2134 &5
6 LRI B, 18
(1) ) 3(INT7 &=
3 AR E 7B ORIE
32NE 5 A
IX(x+1D+2X2x+3X(x+19=8x+76
XoT 8x+ 76 =124
INzEHE<E x=6
B Z( x=6 )
2|7 19 2

OM11(768—57)




